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Find the missing number in the box?
3 4 12
4 5 20
6 4 ?

A. 22

B. 23

C. 24

D. 10

Answer: C is the Right Answer

Therefore, the missing number in the box is 24

Explanation:

Here in the given number puzzle, the logic is

column 1 x column 2 = column 3

3 x 4= 12

4 x 5 = 20

Similarly,

6 x 4 = 24
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So, if you can find the missing number in the above box, it
shows that you can solve other such MCQs as well. All you need
little attention to solve it.

Consider linking to these MCQs:
What is the magnitude of a unit vector?
Current Affairs Paper of CSS 2014 MCQs Quiz
Gorbachev was the president of which country?
General Science And Ability CSS Paper 2017 MCQs
How many different Roblox games were played in 2018?
CSS Current Affairs MCQs 2013 QUIZ | SOLVED MCQs of CURRENT AFFAIRS
PAST
Take Quiz in CSS Current Affairs MCQs 2011
The currency of Srilanka is?
National Flower OF USA is_________?

Which atmosphere is used for commercial aircrafts?
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